Problem 3.69

Use matlab to find the mesh currents in the network shown.
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Suggested Solution
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EDU» r=[1 0 0 0 0;-1000 5000 0 -2000 0;-2000 0 3000 -1000 0;0 -2000 -1000 4000 -1000;0 0 0 -1000 2000]

Using  Matlab

r =

           1           0           0           0           0

       -1000        5000           0       -2000           0

       -2000           0        3000       -1000           0

           0       -2000       -1000        4000       -1000

           0           0           0       -1000        2000

EDU» v=[0.002;-12;6;0;12]

v =

    0.0020

  -12.0000

    6.0000

         0

   12.0000

EDU» i=inv(r)*v

i =

    0.0020

   -0.0011

    0.0041

    0.0023

    0.0071
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